Series : GEIFH 5 SET~3
[=]
e . UY-UH T 3
oo, [rrems 430/1/3)
: TE-8 W a9 for |
MR Candidates must write the Q.P. Code
e o on the title page of the answer-book. y
e ~ NOTE
D ‘chtr{ G{T'E( ETNCRC R R R ) ﬂﬁ{ﬁ gg|(D) Please check that this question paper
278 contains 27 printed pages.
(ID 9-93 ¥ S1fe 81 6T 3% e T gygA-wer| (1D Q.P. Code given on the right hand side
IS F qdremeff s qﬁagm ¥ TE-q8 W of the question paper should be written
el on the title page of the answer-book by

(ITD) o Site L < ToR 39 999 & 38 W&
g
(IV) wuat oo T I o & &0 |

mwmﬁwwmmw
TR aTerva ford |

39 II-957 i UG o fIT 15 fire o amy
fear mn & | e w faaor @l §
10.15 = fFar ST@W | 10.15 €& @
1030az}|aaﬁm°rwﬁ%aamqsrﬁ
Tl I 36 A o S o IT-YRarh
T IS I T T |

#

V)

the candidate.

(III) Please check that this question paper
contains 38 questions.

(IV) Please write down the Serial
Number of the question in the
answer-book at the given place
before attempting it.

15 minute time has been allotted to read
this question paper. The question paper
will be distributed at 10.15 a.m. From
10.15 a.m. to 10.30 a.m:, the candidates
will read the question paper only and
will not write any answer on the
answer-book during this period.

AU

(V)

e aug - g 5ve
Qime allowed : 8 hours

R CIERIC)

MATHEMATICS (BASIC)

\

3FfeFHan 37F - 80

Maximum Marks : 89

430/1/3

1|Page

i
el

[

P.T.0.




AT {389
‘ﬁw%@aﬁ%ﬁﬁagamaﬁ@qﬁqaﬁzmw?ﬁ@wﬁﬁq;

(i)
(i1)
(iit)
(iv)
(v)
(vi)
(vii)

(viit)

(ix)

(x)

=g T3-95 F 88 ¥ § | welt 7o STHATd © |

72 YvgE gl @vE A I 8 -, @, I @ & |

v 3 e T 19 18 7 TgReEe (MCQ) 7o T HEIT 19 TF 20 e T
o TR 1 SF F TG |

wUE @ § g e 21 § 25 e 37 -390 (VSA) THR % 2 3l & T E |

WU 7 7 T S 26 ¥ 31 7F TG-ITT (SA) TERF 3 fh & T T |
mwﬁmw@amz@%wa‘ra‘mﬁa(LA)W%&#&%%W?’/

e T 3 YT GET 36 O 38 T TH AT HEMRT 4 37T % T & | Jeh T
Sye F TR ey 2 37 & Fe B Ra T |
ywmﬁwﬁwqﬁﬁmw?/wﬁ,wa%2yﬁﬁ,mn%2yﬁﬁ,wa
3629???1?6877@033%3337?7337%@*«4%7%@&/#7%?774141?!

STt T B e ST SHIEY | STE AT B = —2—73 Sfsg, afe 7o 7 faar
T E |

Sepoiet 1 ST AAA S |

QUg h

7 e 1§ 20 TgfFeT I (MCQ) &, SrH 1% 777 1 SR FE 20x1=20

1.

T I % FqUTT (quadrant) % TR T ST, S I 3 B 4 T € ;

(A 1:2
B 2:1
(C) 1:4
(D) 4:1

i i & g are 1 aTeteasE TEi e ST Eget gEe &FFE T T T 7
(A)

(B) 9™
(C) ST
(D) eI

430/1/3 , # 2| Page




General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 38 questions. All questions are compulsory.

(1i)  This question paper is divided into five Sections — A, B, C, D and E.

(iii) In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MC@Qs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

(iv) In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type
questions, carrying 2 marks each. ’

(v)  In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions,
carrying 8 marks each. - ‘

(i) In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

(vit) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each case

- study.

(viii) There is no overall choice. However, an internal choice has been provided in

2 questions in Section B, 2 questions in Section C, 2 questions in Section D and

3 questions in Section E. 29

(ix)  Draw neat diagrams wherever required. Take ©n = — wherever required, if not
stated.

(x) Use of calculator is not allowed.

SECTION A
This section has 20 Multiple Choice Questions (MCQs) carrying 1 mark each. 20x1=20

1. The ratio of the area of a quadrant of a circle to the area of the same
circle is :
A 1:2
B 2:1
(C) 1:4
(D) 4:1
2. For which of the following solids is the lateral/curved surface area and
total surface area the same ?
(A) Cube
(B) Cuboid
(C) Hemisphere
(D)  Sphere
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3. ffafea sisei s oo i wra-RE e

F-37aud | 10-25 | 25-40 | 40-55 | 55-70 | 70—-85 | 85-100
FRARAT 2 3 7 6 6 6
(A) 40
(B) 55
(C) 475
© 625
4. ez Bl ¥ o SeciaTSI g SIS T T sht et e s KU
WW@@%@@T 3000 — 4000 | 4000 — 5000 | 5000 — 6000 | 6000 — 7000
SeASTSI 31 Gl 5 10 9 8
ERNEEU N ECRICHRS RIS
(A) 3000
(B) 4000
(©) 5000
(D) 6000
5. @W%WW@W@H%W%l@&m?mc@aﬁx@ml%:
@ 3 ® 2
© ™ o
6. AR & AT il a 3R b H AewH TS (FHICF) 1, 3R aEaw
guTIEe (LCM) B8R :
(A) a+b B) a
C b (D) ab
7. (2+ J§)2 Th
(A) diemEers (B) NHT G
(©) g (D) T HEATR
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3. The class mark of the median class of the following data is :
Class Interval | 10—-25 | 25 -40 | 40 - 55| 5656-70 | 70 -85 | 85— 100
Frequency 2 3 7 6 6 6
(A) 40
(B) 55
(C) 475
(D) 625
4. The following distribution shows the number of runs scored by some
batsmen in test matches :
Runs Scored 3000 — 4000 | 4000 — 5000 | 5000 — 6000 | 6000 — 7000
Number of Batsmen 5 10 9 8
The lower limit of the modal class is :
(A) 3000
(B) 4000
(C) 5000
(D) 6000
5. In an experiment of throwing a pair of dice, the probability of not getting
a doublet is : '
1 ’ 5
A = B 2
(A) 5 (B) 5
1 1
el D il
©) z (D) 30
6. If the HCF of two positive integers a and b is 1, then their LCM is :
(A a+b B a
@ b (D) ab
2
7. (2+42) is:
(A)  arational number (B) anirrational number
(C) aninteger (D) anatural number
430/1/3 # 5| Page P.T.O




10.

11.

12.

13.

o wefler 252 -3x-5=0 i fafare B
(A) -31 (B) 49

e 7 D) 4-31

TR x + 1 =3(X¢o>ﬁ®%mwﬁwﬁ2+bx+c=oa‘omﬁm

X
TSl a—b+ cHTAT

(A) .5 ®B 2

© 1 ‘ D) -1
%igX(a,m,sng(ba>o>ﬁ[x-m©a;ﬁ_y-amaa§]wm%;
(A) a-b B) b-a ‘
©) aZ-b? (D) b?-a?
Wmaﬁrmﬁgwi@w@ﬁma@uﬁﬁﬁwﬁam%ﬁg%:
A 1:2 B 2:1

© 1:1 D) %;2

frerfiaa & & F-at i oA e A FE e € 2

(A) AAA (B) SSS

(C) SAS (D) RHS
ﬁ%ﬁﬂéw@ﬁﬁﬁ,gP%m%mﬁmﬁf@Hﬁﬁaﬁ?—mﬂ%ﬁ%?

R

6 cm 12 cm
Ay «£P=60°
B) «£P=80°
(C) «£P=40°

(D)« P w19 ST el ol S Eeheit
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10.

11.

12.

13.

The discriminant of the quadratic equation 2x%2-3x—-5=0 is:
Ay =31 (B) 49

©c 7 O -31

The equation x + 1 =3 (x # 0) is expressed as a quadratic equation in the
X

form of ax2 +bx+c¢=0. Thevalueof a—b +c¢ is:
@A 5 B) 2
c 1 - ] D) -1

For a point X(a, b) where (b > a > 0), the value of its
[distance from x-axis — distance from y-axis] is :

(A) a-b (B) b-a

(C) a2-b? (D) b?%- a2

The mid-point of a line segment divides the line segment in the ratio :
A 1:2 B) 2:1

© 1:1 (D) % 2

Which of the following is not the criterion for similarity of triangles ?
(A) AAA (B) SSS
(C) SAS (D) RHS

From the figures given below, which of the following is true about the
measure of Z P ?

B 6 cm P 12 ecm Q
(A) «ZP=60°
B) «P=80°
(C) «ZP=40°

(D) The measure of £ P cannot be determined

4 | 2= .T.0.
30/1/3 # 7| Page % P.T.O




14, s ompfr d, AR AB T wasl @t O % AT 39 O T8 R S ¢ 56 OB = 6 ey
AT £ AOB = 60° %, AOAH AR R :

(A) 3cm ‘ (B) 343 cm
(C) 443 em (D) 12cm

15. FrfaRed O 9 S9-91 597 eI ¢ 2

(A) tan 45° = cot 45°
(B) sin 90° = tan 45°
(C) sin 30° = cos 30°
(D) sin 45° = cos 45°

16. (1 b 1 j?ﬂﬁﬁr%:

sec A cosecZA

(A) 19 AR B) 1

© 0 D -1
17. 0T Tt o, FreferRead § & ShiA-6T HioT ST IO 2

A x
B) vy
C) =z
(D) a
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14.

15.

16.

17.

In the given figure, if AB is a tangent to the circle with centre O such

that OB = 6 cm and £ AOB = 60°, then the length of OA is :

(A) 3cm ~ B) 343 em
(C) 43 cm (D) 12cm

Which of the following statements is false ?
(A) tan 45° = cot 45°
(B) sin 90° = tan 45°
(C) sin 30° = cos 30°
(D) sin 45° = cos 45°

Thevalueof( L1 ]is:
sec” A cosec A

(A) morethanl B 1

© 0 D) -1

In the given figure, which of the following angles represents the angle of
depression ?

(A) x
®B vy
C) =z
D) a

430/ i .T.0.
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18. &S 3T A wrifRd &5 T AT E

A

(B)
©
- D)

[+a
[+ 27

[+2r+a

v G 19 3R 20 af%aqqafaa%anwﬁaw?/a?a;wﬁqw?ﬁaﬁwﬁ
STYFHIT (A) awga%ﬁa#(@ma’%ﬁmw?/s#wﬁ%aﬁwﬁﬁqwaﬁﬁ
(A), (B), (C) 3R (D) & @ T i |

(A) TR (A) 3T (R) 31wl ¥ ST (R), AR (A) T Al =met
FEATT
B) R (A) 3K 7 (R) SRt Wl §, Teg 7 (R), AR (A) A
e T FATe |
©) AR (A) TR, W T (R) TEd T |
(D) TR (A) T &, TG @ (R) T T |
19. 3T (A) : wawﬁwﬁaaﬁtb%ﬁm,aaﬁthHCF,aaﬂtb%
LCM 1 T V&S B € |
T (R) : et 21 ST SETat i HCF, G Seanst 1 i s 8 |

20. IYFHYIT (A) : p?ﬂtrm,%m%%mwﬁmwﬁ?ﬂazix+py+8=03ﬁt

Ox + 2y + 2 =0T, 481

T (R) : ‘v’ftﬁeh—{UTﬁTm"l'JalX+b1y=chT?1Ta2X+bzy=CZW%W

s eTd sRm e S A AL = 2L - 1

az—b2—02
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18. The perimeter of the shaded reg‘ioh in the given figure is :

Aa .
B) l+a

C) I+2r
D) [+2r+a

Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : For any two natural numbers a and b, the HCF of a and b
is a factor of the LCM of a and b.

Reason (R): HCF of any two natural numbers divides both the
numbers.

20. Assertion (A): The value of p for which the system of equations
4x + py + 8 = 0 and 2x + 2y + 2 = 0 is consistent is 4.
Reason (R): The system of equations a1x + b1y = ¢ and agx + boy = ¢9
is consistent with infinitely many solutions, if
a3 _bi _¢a

az b2 02 .
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s @ve & 5 3 -3 (VSA) TFR & T E, o geF & 2 T | 5x2=10

21'. 70 pmﬁwﬁ@mwﬁwa@ﬁﬂww%laﬁgﬁwww
T hISTC |
29, x ity R s

3x + 5y =8
5x — 3y = 2

23. (%) dEemERid, Ak pQ | RS, A Rkt fs A POQ ~ A SOR.
R

P
)

Q
S

grerET
@) & T I, A OSR ~ A OQP, £ ROQ = 125° T £ ORS = 70°.
~ OSR 3~ OQP 3 A1 I HIWT |
S R
70°

& LN
= Cal

OX }125°

A
y
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SECTION B

This section has 5 Very Short Answer (VSA) type questions carrying 2 marks

each. 5%x2=10

21. From a circular sheet of radius 70 cm, a quadrant is cut. Find the area of
the remaining sheet.

. 22. Solve forx\andy:
3x + b5y =8
5x -3y =2

23. (a) Inthe given figure, if PQ || RS, then prove that A POQ ~ A SOR.
R

OR

(b) In the given figure, AOSR ~ AOQP, £ ROQ = 125° and
< ORS = 70°. Find the measures of £ OSR and £ OQP.

S R
70°

(N
C

&
Ay

oY )125°

E S
%y
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24, ?Hicios?lqcgdi?ﬁlr%wq@6cmﬁ(lOcm%lH@,?ﬁaﬁEﬁHL@T@%gﬁ?ﬁmﬁW
HEISEERINET By
25, (F A X B (0 <A <90, 0 < B < 90°) ¥ WM @ I, Il
tan(A+B)=13ﬁTtan(A—B)=—J1-_?:§l
\ roraT
(‘@)\ sanfireer fafr @ forg HINT 1 tan 45° = 1.
TUE T
va @ve & 6 -3 (SA) TBHF AT, A gEF & 3 3HE | 6x3=18
96, freAfiaa B adafien fg hifs
(sin A — cosec A) (cos A—sec A) = tanA::-COtA
27. 200 AT % T FE F 180 I =S ¥ I A F W W T | T AeH W 5 &
wliEdT & S 9 T 7 8 | THEET T O 36 TE ¥ MG AT § S AR
1 3T 2 | e T U B T HIEAT &, TR FTIeRAT T © 2 100 ST 1 T 3T
e & foreil 80 9 ared &, T 200 ¥ 3 Tk et g e fey et 21
wmwm@a{gﬁ@ﬁ?wﬁm%aﬁtwﬁwaﬁmﬁéﬂ
£ | ek 39 O % GG, TEshT TR TR 7
28. (%) TagHRTE 3 T smiem et |

HIAT
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Two concentric circles are of radii 6 cm and 10 cm. Find the length of the

chord of the larger circle which touches the smaller circle.

25. (a) Tind the values of A and B (0 < A < 90°, 0 < B < 90°), if

tan(A+B)=1 and tan(A-B)= 1

5

OR
(b)  Prove that tan 45° =1 geometrically.

SECTION C

This section has 6 Short Answer (SA) type questions carrying 3 marks each. 6x3=18

26. Prove the following trigonometric identity :

1
tan A + cotA

(sin A — cosec A) (cos A —sec A) =

27. A lot consists of 200 pens of which 180 are good and the rest are

defective. A customer will buy a pen if it is not defective. The shopkeeper

draws a pen at random and gives it to the customer. What is the

probability that the customer will not buy it ? Another lot of 100 pens

containing 80 good pens is mixed with the previous lot of 200 pens. The

shopkeeper now draws one pen at random from the entire lot and gives it

to the customer. What is the probability that the customer will buy the

pen ?

28. (a) Prove that J§ is an irrational number.

OR

430/1/3




2 y
/\
2 210
/\
a 70
2 35
A
5 b

x, v, a 3T b 3 T T T | . T x T I ORGSR
&0 § I AT |

WWWW,WW%WWWW: — 10324 ¥\
mgqa'gqaéwgamﬁmaﬁml

29.

30. (& ﬁm%r%au:ﬁmﬁwﬁm%ﬁmmaﬁmz |
x + 3y =6; 2% — 3y =12
AT

XﬂyaWW%@W%ﬁx cy=1: Z.ﬁﬂé@mﬁﬁaﬁa@

@)
@meﬁm%mﬁm%mﬁtwm@wﬁml

31. maﬁﬁqﬁagﬁ%wﬁmwm@aﬁ%ﬁm%\
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(b) The factor tree of a number x is shown below :

2

~
N

~

y
210
/\
a 70
/\
2 35
/\
5 b

Find the values of x, y, a and b. Hence, write the product of the
prime factors of the number x so obtained.

29. Determine a quadratic polynomial, sum and product of whose zeroes are
— 10 and 24, respectively. Also, determine the zeroes of the polynomial so

obtained.

30. (a)  Solve the following system of equations graphically :
x+3y=6; 2x—3y=12
OR
(b) x and y are complementary angles such that x : y = 1 : 2. Express
the given information as a system of linear equations in two

variables and hence solve it.

31. Prove that a rectangle circumscribing a circle is a square.

430/1/3 # 17| Page
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s @uE # 4 SH-3709 (LA) ThR % T E, R gs s 5 dF8 | 4x5=20
3. e S ST T, ST FTER 100 Wi T % e  FEiE AwS S
HEATR ;

g (@ E) | Tt R HET
15— 20 2
20 — 25 4
25 — 30 18
30 - 35 21
35 — 40 33
40 — 45 11
45 - 50 3
50 — 55 6
55 — 60 2

Giferelt STt Shi HTEAh ST ST ShifC |

33. (%) awﬁwﬁ%aﬁwwmo%l@ﬁﬁﬁwwaﬁﬂémw
8 T % | ST Ererd 3 AT |

AT

@) K F1/3 u T Eifve fren/Res R aefieRer 2x2 + kx + 3 =0
Srefires ST S T B | 36 SehTC SITH g efr oh ot +ft e S |

34. “Wﬂgm@ﬁwuﬁa”wﬁﬁn%@qaﬁtmgﬁﬂ%w frfafaa =t

firg R
: o Frger 1 ol 2 et 35 e gl i frem e Yt e ST 3w
s |
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This section has 4 Long Answer (LA) type questions carrying § marks each.

SECTION D

4x5=20

32. A life insurance agent found the following data for the dlstrlbutlon of
100 policy holders on the basis of their ages.

Age (in years) Number of policy
‘ holders
©15-20 2
20 - 25 4
25 - 30 18
30-35 21
35-40 33
40 — 45 11
45 - 50 3
50 — 55 6
55 - 60 2

Find the median age of the policy holders.

33. (a) The difference of the squares of two positive numbers is 180. The
square of the smaller number is 8 times the greater number Find

the two numbers.

OR

(b)  Find the value(s) of k for which the equation 2x2 + kx + 8 = 0 has
real and equal roots. Hence, find the roots of the equations so

obtained.

34. State the converse of “Basic Proportionality Theorem” and use it to prove

the following :
Line segment joining mid-points of any two sides of a triangle is parallel
to the third side.
430/1/3 # 19| Page P.T.O




35. (F) U Roeil Uh AN W TS Th I % ATHR I ¢ | WG I AL Al
Breamd e © | Racii 3 Sieremente ST shY SreTs SHeh AT o S4Td o S
2 | afE SigaTeRT WAt & BSA1 5 em &, ) Raciie =T ST J1a e |

YT

(@) T SRR sieh % HU 3-5 em w2 1 T el var T g | 5 o o
ﬁ«qc\vmuWcﬂwéw%,ﬁﬁ%ﬁlﬁwﬁqﬁﬁ@ﬁmwﬁ%ﬁa%?m
ST S 31 ShT U1 TETE &6A T ShIT |

Qe ¥

T GUS T 3 YT 7T ST Yo &, oA Jedw b 4 37F 3 | Ix4=12

T&HTOT AT - 1

36. UH GEd § Uw AR Uk @ ek @ e € 1 3 IE e 5 A0, 20) R
B(50, 50) T @i &, S i A= o 7 T o 7 | & wen B P AR Q, S
Taree AB Wit €, 30 T @me T § 7R AP = PQ = QB.
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35. (a) A toy is in the form of a cone surmounted on a hemisphere. The
cone and hemisphere have the same radii. The height of the conical
part of the toy is equal to the diameter of its base. If the radius of
the conical part is 5 cm, find the volume of the toy.

OR

(b) A cubical block is surmounted by a hemisphere of radius 35 cm.
What is the smallest possible length of the edge of the cube so that
the hemisphere can totally lie on the cube ? Find the total surface
area of the solid so formed.

SECTION E

This section has 3 case study based questions carrying 4 marks each. 3x4=12
Case Study -1

36. In a society, there is a circular park having two gates. The gates are
placed at points A(10, 20) and B(50, 50), as shown in the figure below.
Two fountains are installed at points P and Q on AB such that
AP =PQ = QB.
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i) %= C % e Ja Al |

(ii) Wqﬁﬁﬁwm’aﬁml

i) (®) Torg P o fcerien I i
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@) AT QR N g T AT |

TehT0T TEqa - 2

37. U WA 1 9 T TF TR Ieh @ 21 ? | 7% 3G 15 m S € | gefl & s

% 3EF W, Uoh GRAAH hI AT ST © | BTG J ©4 % g o T U TS
et 7 STENT FRRAT | SO HE S 56 TR T ¥ B 7 Tge % o wet i @
60° T IO SHIT |-

SuEfeh STeRT 3 ST o, FefRae st o ST e
G) e e g i, R Wi 3w e o o ST foke o |
(i) T % uTe & o 3 forg oY gt ST RIS, SR et i T T e |
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Based on the above information, answer the following questions :

(1) Find the coordinates of the centre C. 1
(i)  Find the radius of the circular park. 1
(ii) (a)  Find the coordinates of the point P. 2
OR
(b) . Find the distance of the fountain at Q from gate A. 2
Case Study - 2
87. An injured bird was found on the roof of a building. The building is 15 m
high. A fireman was called to rescue the bird. The fireman used an
adjustable ladder to reach the roof. He placed the ladder in such a way
that the ladder makes an angle of 60° with the ground in order to reach
the roof.
Based on the above information, answer the following questions :
(1) Find the length of the ladder used by the fireman to reach the roof. 1
(i) Find the distance of the point on the ground at which the ladder
was fixed from the bottom of the building. 1
430/1/3 # 23| Page P.T.O




(iii) Wﬁm%m,mﬁwﬁwww%mwﬁwﬁw
W%WW%W@@,WW@SWWW@I

(&) Wﬁaﬁaﬁaﬁ%%@@m-wﬁameﬁtmam
3 e e 1 e T IS |

YT

@) %Wﬁmﬁﬁﬂ@ﬁaﬁmm@m%ﬁm%wﬁm@m
ST

TRt 3T ~ 3

38. @@ﬁ%ﬁ,qﬁaﬁﬁaﬁﬁ%mw%@%ﬂﬁwmmwwm
wftfer Hih aﬁﬁﬁw%,mwwamwﬁAaﬁth%,ﬁﬁwaﬁ
50 cm, 100 cm, 150 cm, ... %%Aﬁs@r{a@m%ﬁw:ﬁﬁﬁqwmﬁ%@m
g Efa 19 10@,@%21&20@,%3%0@@13@6@1

Wamsmﬁ%mm,ﬁm%ﬁaﬁwﬁ%maﬁm:

i) 13t affer 1 B TR ?
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ground.

the wall.
OR

case.

Case Study -3

I3

(b) - Find the length of the ladder used by the fireman in this

Based on the above information, answer the following questions :

@) What is the radius of the 13t spiral ?

(i) In order to avoid skidding, the fireman placed the ladder in such a
way that the bottom of the ladder touches the base of the wall
which is opposite to the building, making an angle of 30° with the

(a) Draw a neat diagram to represent the above situation and
hence find the width of the road between the building and

38. In a garden, saplings of rose flowers were planted at equal intervals to
forxﬁ a spiral pattern. The spiral is made up of successive semicircles,
with centres alternatively at A and B, starting with centre at A, of radii
50 cm, 100 cm, 150 cm, ....... as shown in the figure given below. Spiral 1
has 10 flowers, Spiral 2 has 20 flowers, Spiral 3 has 30 flowers and so on.
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(i)  If the radius of the nth spiral is 500 cm, find the value of n.

Gii) (a)  Find the total number of saplings till the 11th spiral.

OR

~

(b)  Till which spiral, will there be a total of 450 saplings ?
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